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2018 March New Cisco 400-051 Exam Dumps with PDF and VV CE Free Updated Today! Following are some new 400-051 Red
Exam Questions:1.]2018 Latest 400-051 Exam Dumps (PDF & V CE) 542Q&As Download:
https://www.braindump2go.com/400-051.html2.]2018 L atest 400-051 Exam Questions & Answers Download:
https://drive.google.com/drive/fol ders/OB75b5xY Lj SSNWGttdX Z3UGRqWjQ?usp=sharingQUESTION 2530n a Cisco Unified
Communications Manager SIP trunk with a single remote device and OPTIONS ping feature enabled, which response from the SIP
remote peer causes the trunk to be marked as "Out of Service'?A. 401 UnauthorizedB. 505 Version Not SupportedC. 406 Not
AcceptableD. 408 Request TimeoutE. 500 Server Internal ErrorAnswer: DQUESTION 254Which two responses from a SIP
device, which is the only remote destination on a Cisco Unified Communications Manager SIP trunk with OPTIONS ping enabled,
cause the trunk to be marked as "Out of Service'? (Choosetwo.)A. 503 Service UnavailableB. 408 Request TimeoutC. 505
Version Not SupportedD. 504 Server TimeoutE. 484 Address IncompleteF. 404 Not FoundAnswer: ABQUESTION 255Which
two statements about virtual SNR in Cisco Unified Communications Manager Express are true? (Choose two.)A. The SNR DN
must be configured as SCCP.B. Calls cannot be pulled back from the phone associated with the DN.C.  Ephone hunt groups are
supported.D.  The virtual SNR DN must be assigned to an ephone.E. Music on hold is supported for trunk and line side
calls.Answer: ABQUESTION 256Refer to the exhibit. Which two statements about calls that match dial-peer voice 7 voip are true?
(Choosetwo.) A. All callsthat match dial-peer voice 7 use G.711.B.  All calls that match dial-peer voice 7 have the Diversion
header removed from SIP Invites.C. All callsthat match dial-peer voice 7 use NOTIFY -based, out-of-band DTMF relay.D.  All
callsthat match dial-peer voice 7 are marked with DSCP 32.E.  All calls that match dial-peer voice 7 are marked with DSCP
34.Answer: BEQUESTION 257Refer to the exhibit. Which number is sent as the caller ID when a user at extension 5001 places a
call that matches thistrandation profile? A.  14087775001B. +4087775001C. 4087750001D. +14087775001Answer:
DQUESTION 258Refer to the exhibit. Which two statements about the show command output are true? (Choose two.) A. T10/2/1
terminates Q.921 signaling to a Cisco Unified Communications Manager server.B.  T1 0/0/0 terminates Q.921 signaling on the
gateway.C. T1 0/0/0 terminates SIP Signaling to a Cisco Unified Communications Manager server.D. T1 0/0/0 terminates Q.931
signaling to a Cisco Unified Communications Manager server.E.  T1 0/2/1 terminates Q.931 signaling on the gateway.Answer:
BDQUESTION 259Which two Cisco 10S multipoint video conferencing profiles are supported on the Cisco Integrated Router
Generation 2 with packet voice and video digital signal processor 3? (Choose two.)A. homogeneousB. rendezvousC.
guaranteed-audioD. scheduledE. guaranteed-videoF. ad-hocAnswer: ACQUESTION 260Which Cisco |OS multipoint video
conferencing profile is also known as best-effort video on the Cisco Integrated Router Generation 2 with packet voice and video
digital signal processor 3? A. homogeneousB. guaranteed-audioC. rendezvousD. heterogeneouskE. flex mode videoAnswer:
AQUESTION 261Which Cisco packet voice and video digital signal processor 3 can be used for video mixing on a Cisco Integrated
Router Generation 2?A. PVDM3-16B. PVDM3-32C. PVDM3-64D. PVDM3-128Answer: DQUESTION 262Which three
options are valid per-session video conference participants supported on the Cisco Integrated Router Generation 2 with packet voice
and video digital signal processor 3? (Choosethree)A. 3B. 4C. 6D. 8E. 9F. 12G. 16Answer: BDGQUESTION 263
Refer to the exhibit. Which option describes how this Cisco 10S SIP gateway, with an analog phone attached to its FXS port,
handles an incoming informational SIP 180 response message without SDP? A. It will enable early media cut-through.B. 1t will
generate local ring back.C. It will do nothing because the message isinformational.D. It will terminate the call because thisis an
unsupported message format.E. It will take the FXS port offhook.Answer: BIRECOMMEND!!!1.]2018 L atest 400-051 Exam
Dumps (PDF & VCE) 542Q& As Download:https://www.braindump2go.com/400-051.html2.]2018 L atest 400-051 Study Guide
Video: YouTube Video: Y ouTube.com/watch?v=Ish6if ¢ JY
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